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1. Solve the simultaneous equations

   3x + 2y = 8
   2x + 5y = –2

 x =  ...............................

 y  =  ............................... Q21

(Total 4 marks)
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2. Solve the simultaneous equations

 6x + 2y = í 3
 4x í 3y =  11

 x = ..........................., y = .......................... Q2

(Total 4 marks)

More free papers and model answers from http://bland.in



Leave 
blank

3. Solve the simultaneous equations

  x2 + y2 = 5

  y = 3x + 1

x = ..................... y = .....................

or x = ..................... y = ..................... Q3

(Total 6 marks)
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4.  Solve the simultaneous equations

   4x + y = í1

   4x – 3y = 7

x = ............................  y = ............................ Q4

(Total 3 marks)
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 The diagram shows graphs of     y x        = 1
2

� 2

 and                                           2y + 3x = 12

 (a) Use the diagram to solve the simultaneous equations 

 
y x        = 1

2
� 2

 2y + 3x = 12

x = ....................  y = ....................
(1)

 (b) Find an equation of the straight line which is parallel to the line  y x        = 1
2

� 2 and 
passes through the point (0, 4).

  .....................................
(2) Q5

(Total 3 marks)
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. Solve the simultaneous equations

 6x + 2y = í 3
 4x í 3y =  11

 x = ..........................., y = .......................... Q

(Total 4 marks)
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. Solve the simultaneous equations
  4x + y =10
  2x – 3y =19

 x =  ...............................

 y =  ............................... Q

(Total 3 marks)
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